ERss [GeV] Lost-lepton Z — v QCD ttZ Total SM  Data
Mr(by,, Pi™) <175GeV,5 < N, < 6, N, = 1
250-300 606 14£3 41£17 059+£021 79%7 68
300-400 23+3 744+19 15+£08 039+£014 32+4 23
400-500 25+£10 1.6+£08 021+£015 008004 43£13 5
500-600 194+£10  025%0% 0141015 004£002 23+10 1
>600 0281031 0137013 001+£001 <001 042+034 0
Mr(by,, PF™) < 175GeV,5 < N; < 6, N, > 2
250-300 61£6 47+14 11+£05 063£022 68%6 61
300-400 2443 30£10 044023 050018 28+4 29
400-500 28+12 061+£033 0164013 012+£006 37+12 7
500-600 17+£09 013731 0.05 3% <0.01 19+09 2
>600 0.38 04 0.04 TO08 <0.01  0.01+£0.01 043+£041 0
Mt (b ,, i) < 175GeV, N; > 7, N, = 1
250-300 304 30£10 18%£06 079028 36=4 34
300-400 17 +3 46+16 11+05 058+021 2443 26
400-500 29+09 0824064 0404027 0124007 42+11 4
500-600 13+£07 009104 005+£005 0.09+005 15+07 3
>600 <0.56 0.39 7035 0.02£0.02 0.05+003 0467072 2
Mr(by,, P¥™) <175GeV, N, > 7, Ny, > 2
250-300 36+4 096+038 1.1+£05 083+£030 38*4 33
300-400 2043 21£09 034£019 058+022 23+3 18
400-500 45+14 015+013 007+£005 0154£0.07 49+14 1
500-600 15+£08 009104 001£001 003+£003 1.6+08 0
>600 <0.59 0107972 0014001 0034+002 013739 0
Mr(by,, pi™) > 175GeV,5 < N, < 6, Ny =0, N, = 1
250-300 20 £3 12+£3 066+£037 050+£019 33+£5 30
300-400 9.6+£23 17+4  063+032 082+027 28+4 27
400-500 44+19  86+26 052+035 028+012 1443 13
500-600  0.82+£063 38+18 040+035 0.09+006 51+19 3
>600 <04 12407 0054£0.05 008+004 13+£08 1
Mr(by,, p™) > 175GeV,5 < Nj< 6, Ny =0, N, > 2
250-300 mx2 45+14 045+027 070+£024 17+3 25
300-400 49+12  63+18 037+023 060+022 1242 18
400-500 16+£07 31+11 018+017 031+012 53+14 6
500-600  029+£024 14+08 001+£001 013+£006 19+08 0
>600 <049  032+020 001705 002+002 036703 1
M (b, P) > 175GeV, N; > 7N; = 0, Np, = 1
250-300 88+£19 25+£10 12+£06 029+018 13£2 10
300-400 71+18 39+£15 076+£046 042+£018 12+£2 20
400-500 20£08  13£07 008£007 016£009 36+11 5
500-600 0381030 040704 0.02+002 <001  080£059 1
>600 028 032 22412  0.0210% <0.01 25+12 1
Mr(by o, pi™) > 175GeV, N, > 7Ny = 0, Ny, > 2
250-300 59+13 12+£05 046+£024 057021 81+15 13
300-400 38+£10  1.6+£07 008+£006 070+£026 62+£12 6
400-500 154+0.6 048027 001+£001 028+0.12 22+07 2
500-600 022792 0111212 001+£001 018+£008 051+£029 0
>600 0067007 0734044 002700 0027007 084+045 1
Mr(by,, PF™) > 175GeV, N, > 5, Ny > 1, Ny = 1
250-300 12+£05 030£025 026+£021 002705 1.8+06 0
300-400 15+£07 034+026 002+001 014£006 20+08 0
400-500  0.73£040 020702 0137017 004708 11x05 1
500-600 025022 054+£034 0127015 010+£006 1.0+04 4
>600 0.15 733 059 £0.49 0.07+£0.07 011005 092+£060 1
Mr(by,, Pi) > 175GeV, N, > 5, Ny > 1, Ny, > 2
250-300  0.66 =026 011009 006=+005 009+005 092£029 3
300-400  092+£039 012£0.10 003+£0.03 014+008 12+04 3
400-500 0314017  0.03 1% <0.01  0.09+£0.06 043+£0.18 0
500-600  030+£030 030+£021 <001  0.09+004 070+£037 0
>600 0131929 037+032 <001 012+005 062+043 1



